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x—3=-5 x=3-5 x=-2
4x —10 =14 4x =10+ 14 4x = 24 xX=6

x—2=-10 x=2-10 x=-8
4x —6 =18 4x =6+ 18 4x = 24 x=6
5—2x=-25 —2x=-25-5 —2x =-30 x =15
6x +18 =18 6x=0 x=0
x+6=2x+8 x—2x=8-—6 —x=2 x=-2
3x —5=6x—28 3x—6x=5-—28 —3x=-3 x =
3x+10=7x—-10 3x—7x=-10—-10 —4x =-20 x=25
7x +16 = 2x + 11 7x —2x = —-16+ 11 5x = -5 x=-1
14x — 13— 7x = 15+ 3x 14x — 7x —3x =13 + 15 4x = 284 x=17
—34 +4x—17 = —51 — 30x 4x +30x =34+ 17 —-51 34x =0 x=0
15x+2=13x+ 16 15x —13x = -2+ 16 2x =14 x=7
x+3x+5=6x—13 x+3x—6x=-5-13 —2x =-18 x=9
10x +2 =15x—8 10x —15x = -2 —38 —5x=-10 x=2
6
21 —-18x =2x—3 —18x —-2x=-21-3 —20x = —-24 x=§
5
10+ 13x =24x+5 13x —24x =-10+5 —11x =-5 x=ﬁ
3
—3x—9+6x=3+12x —x —3x+6x—12x+x=9+3 —8x =12 x=—§
2x—5=3x-9 2x—3x=5-9 —x=-4 x =4
3x+x+6=-5x—-21 3x+x+5x=-6-21 9x = —-27 x=-3
3
36x —12 = 12x + 24 36x —12x =12 + 24 24x = 36 x=§
4
25+ 18x = —-15—12x 18x + 12x = —15 - 25 30x = —40 x=—§
21x+17 — 2x = —13 — 11x 21x — 2x + 11x = —-17 — 13 30x = -30 x=-1
5
5x+12—-18 = 10x — 16 + 23x 5x —10x — 23x =-12+18—16 —28x =-10 x=ﬁ
3x—18+8x—-6=x+16 3x+8x—x=18+6+16 10x = 40 x =4
10x — 5+ 15x+4 =13 + 11x 10x +15x — 11x =5—4+13 14x = 14 x=1
4x —-2x—1) =x+6 4x —2x+2=x+6 4x —2x—x=-24+6 x=4
—4x —(x+2)+2Bx—-4)=0 —4x—x—-2+6x—8=0 —4x—x+6x=2+8 x =10

8x—-54+12x—7x—11=-34+6x—9+ 10x 8x+12x—7x—-6x—10x=54+11-3-9 —-3x=4 x=—=

x+4x+8B—-x)=6x+5—-(2—x)+ 2x XxX+4x+24—-8x=6x+5—-2+x+2x
X+4x—8x—6x—x—2x=—-24+5-2 —12x = -21 x=£

4+6(4x—5)=3+6(Qx—1)—18(1—2x) +1 4+24x—30=3+12x—6—18 +36x + 1
24x —12x—36x =—4+30+3-6—-18+1 —24x =6 xz—%

54x — 47 + 25x = 19x — 107 54x + 25x — 19x = 47 — 107 60x = —60 x=-1
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342(x—1)+2x—4=7x+5(x—-2)—-1 3+2x—2+2x—4=7x+5x—-10—-1

2x+2x—7x—5x=-34+24+4-10-1 —8x =-8 x=1
6x+4=27—-(x+2)—(5-3x) 6x+4=27—-x—-2-5+3x
6x+x—3x=—-4+27—-2-5 4x =16 x=4
3(17—-x)+12x=2(8—-3x)+ 50 51 -3x+12x =16 — 6x + 50 —3x+12x+6x=-514+16+50
15x = 15 x=1
6x+4—-2(4—x)=2(x—8)+8—(4—5x) 6x+4—-8+2x=2x—16+8—-4+5x
6x+2x—2x—5x=—44+8-16+8—-4 x =-—8
1
x+§x= §x=6 x=4
x 2
x—§=12 §x=12 x=18
5 6
Ex—2= —x=2+1 §x=3 ng
5 5 5 5 9 7
x—§=—zx+z x+§x=5+§ §x=7 x =2
8 8 2
§x+x—7=3x+3 §x+x—3x=7+3 §x=10 x =15
x 2 3 9 X x 2 x 9 7
Z—1+§x=1x—5+x—§ Z+§x—1x—x+§=1—5 —RX=75 x=7
2 X x 2 x X
§x—1+g=15—x—€ §x+€+x+g=1+15 2x =16 x=8
1 1 1 1 10
—x—14+2x—-34+4x-5=1—-x —x+2x+4x+-x=1+3+5+1 7x =10 X =—
2 2 2 2 7
2 1 1 2 1 2 1 1 2 1 1 2
§x+1—§+1x=—§+x—§+1 §x+1x—x=—1+5—§—§+1 T3 x=28
3 1 1 x 1 1 X 3 1
Z+Ex—2x+§=§—1+1 Ex—Zx—§=—Z—E—1+Z —2x=-2 x=1
3 1 2 1 2 1 3 2 1 1 2 1 13 1
grtgmgxtl=l-gxtg—qg  g¥x-g¥¥x=-9*3 1 3 T T3
3 1 1 1 3 1 1
§x+§—2(x—1)=§+2(3—§x) §x+§—2x+2=§+6—x
3 2
Ex—2x+x=—2+6 —§x=4 x=-10
5 1 3 5 1 3 5 1 3
§x+§(5x—1)=7x+5(2x—1) §x+x—§=7x+3x—5 §x+x—7x—3x=§—5
13 13 1
B T -
3 ve 7 1 3 7 3 7
Ex—8(§+1)=§x+2<x—§)—7 SX—4x—8=gx42x—1-7  Cx—dx-gx—2x=8-1-7
43



